
Section A@[k.M+ d 
Q.1. ‘Per capita Income of a country does not reflect the real development of that country’. Do 
you agree? Give any one reason.                      1 
**fdlh ns”k dh izfrO;fDr vk; ml ns”k ds okLrfod fodkl dks ugha iznf”kZr djrh gSA**D;k vki lger gSa \ dksbZ ,d 
dkj.k  fyf[k, \                                             
Q.2.Who was Alluri Sitaram Raju? 1 
     vYywjh lhrkjke jktw dkSu Fks \                             

OR/vFkok 

         I wrote the novel ‘Anandmath’. Guess who am I ? 
      eSauas ^vkuaneB^ miU;kl fy[kkA crkb, fd eSa dkSu gw¡ \ 

Q.3.You want to use coal in your Factory. Which type of coal would be best suited for your 
Factory ?                                                                                                                                         1 
       vki viuh QSDVªh esa dks;ys dk bLrseky djuk pkgrs gSaA dks;ys dk dkSu lk izdkj vki dh QSDVªh ds fy, 
lcls mi;qDr gksxh \ 

Q. 4.The southern and western Indian States are increasingly becoming the largest producers of 
Sugar? Give any one reason for this.                                                                                              1 

nf{k.kh ,oa if”peh Hkkjrh; jkT; phuh dss cM+s mRiknd curs tk jgs gSaA blds fy, dksbZ ,d dkj.k fyf[k,A          
OR/vFkok 

            Why is the per capita consumption of steel so low in India?                                                          
       Hkkjr esa bLikr dh izfrO;fDr [kir bruh de D;ksa gS \ 

Q.5.Which organization publishes annual ‘Human Development Report’ ? 1 
     dkSu lh laLFkk okf’kZd ^ekuo fodkl fjiksZVẐ  dks izdkf”kr djrh gS \                             
Q. 6.  How does social division affect politics? 1 
    Lkekftd foHkktu jktuhfr dks dSls izHkkfor djrs gSa \                    
Q.7. Why was the cotton textile industry concentrated in the Indian States of Maharashtra and 
Gujarat?                                                                                                                                          1 
Lkwrh oL= m|ksx Hkkjrh; jkT;ksa&egkjk’Vª vkSj xqtjkr esa D;ksa dsfUnzr Fks \                                                                            

 
Section B@[k.M+ [k 

Q. 8.Compare the employment conditions prevailing in the organized Sector and unorganized 
Sector?                                                                                                                                            3 
 LakxfBr {ks= vkSj vlaxfBr {ks= esa mifLFkr jkstxkj dh ifjfLFkfr;ksa dh rqyuk dhft, \                                  

OR/vFkok 
Differentiate between Public sector and Private Sector. 
futh {ks=d vkSj lkoZtfud {ks=d ds e/; varj Li’V dhft, \  

Q.9. Does caste play an important role in Indian politics? Explain with suitable arguments.       3           
D;k Hkkjrh; jktuhfr esa tkfr ,d egÙoiw.kZ Hkwfedk fuHkkrh gS \ mi;qDr rdksaZ ds }kjk Li’V dhft, \                  
Q.10. What are the important challenges before political parties in India?  3 
Hkkjr esa jktuSfrd nyksa ds le{k izeq[k pqukSfr;k¡ D;k gSa \                                                  

OR/vFkok 

Suggests some ways to bring reforms in the functioning of political Parties in India? 
Hkkjr esa jktuSfrd nyksa dh dk;Ziz.kkyh esa lq/kkj ykus ds dqN mik; lq>kb, \ 
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Q.11. “Democracy accommodates social diversities.”  Do you agree ? Support the statement 
with examples.                                                                                                                                3 
“ yksdra= lkekftd fofo/krkvksa dk lkeatL; djrk gSA^^D;k vki lger gSa \ dFku dh mnkgj.kksa ds }kjk iqf’V dhft, 
\                     
Q.12. ‘The availability of resources is a necessary condition for the development of any region 
but mere availability of resources does not ensure development of that region’. Comment.         3 
^^fdlh {ks= ds fodkl ds fy, lalk/kuksa dh miyC/krk ,d vko”;d “krZ gS] fdUrq dsoy lalk/kuksa dh miyC/krk ml 
{ks= ds fodkl dks lqjf{kr ugha djrhA^^ fVIi.kh dhft, \                                                                              
Q.13. Why are multi-purpose river-valley projects and large dams opposed in recent years in 
India?                                                                                                                                               3 
Hkkjr esa gky ds o’kksZa esa cgqm)s”kh; unh ?kkVh ifj;kstukvksa vkSj cM+s ck¡/kksa dk fojks/k D;ksa fd;k x;k gS \          
                                     

OR/vFkok 

Give an account of rain water harvesting system presently prevalent in India. 
Hkkjr esa orZeku esa izpfyr o’kkZ ty laxzg.k O;oLFkk dk fooj.k nhft,A 

Q.14. A Crop is called as ‘golden fibre’. Mention this crop and write any two geographical 
conditions essential for the cultivation of this crop.                                                                       3 
,d Qly ftls ^lqugjk js”kk^ dgrs gaSA bl Qly dk uke fyf[k, rFkk bl Qly ds mRiknu ds fy, vko”;d dksbZ 
nks HkkSxksfyd fLFkfr;ksa dks crkb,A                                                    
Q.15. “Napoleon had destroyed democracy in France but in the administrative field he had 
incorporated revolutionary principles in order to make the whole system more rational and 
efficient.” Analyze the statement with arguments.                                                                         3 
^^ usiksfy;u us Qzkal esa yksdra= dks u’V dj fn;k fdUrq iz”kklfud {ks= esa lEiw.kZ O;oLFkk dks vkSj vf/kd O;kogkfjd 
,oa n{k cukus gsrq mlds }kjk Økafrdkjh fl)kar viuk;s x,A^^ rdksZa lfgr dFku dk fo”ys’k.k dhft, \                                                                   

OR/vFkok 

“The peace negotiations in Geneva followed the division of Vietnam that set in motion a series 
of events that turned Vietnam into a battlefield.” Analyze the statement with arguments. 
^^ftusok ds “kkafr okrkZvksa us fo;ruke ds foHkktu vkSj mlds dkj.k fo;ruke dks ,d ;q) LFky esa cnyus ds ?kVuk 
Øe dks tUe fn;kA^^ rdksZa lfgr dFku dk fo”ys’k.k dhft,A 

Q.16. How Giuseppe Mazzini promoted the idea of unification of Italy ?                                     3 
T;wlsih esfRluh us bVyh ds ,dhdj.k ds fopkj dks dSls c<+kok fn;k \        

OR/vFkok 
What was the importance of Ho- Chi Minh trail in the nationalist movement of Vietnaam? 
fo;ruke ds jk’Vªh; vkanksyu esa gks&fp&feUg Hkwy HkqyS;k ekxZ dk D;k egÙo Fkk \ 

Q.17. What were the reasons of the Great Depression of 1929-32?                                               3 
1929-32  ds egku vkfFkZd egkeanh ds D;k dkj.k Fks \                                                                

OR/vFkok 
What were the impacts of British policies on Cotton Weavers in India? 
Hkkjr esa lwrh oL= cqudjksa ij fczfV”k uhfr;ksa ds D;k izHkko iM+s \ 

OR/vFkok 

Why is Bombay (Mumbai) called a ‘city of dreams’ for some while ‘city of hardships’ for 
others? 
cEcbZ ¼eqEcbZ½ dqN yksxksa ds fy, ^liuksa dk “kgj^ vkSj dqN vU; ds fy, dfBukb;ksa dk “kgj D;ksa dgk tkrk gS \ 

Q.18. “Printing technology gave women a chance to share their feelings with the outside world.” 
Support this statement with suitable examples.                                                                              3 
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^^ eqnz.k rduhd us vkSjrksa dks viuh Hkkoukvksa dks ckgjh nqfu;k ds lkFk lk>k djus dk ,d volj fn;kA^^ mfpr 
mnkgj.kksa ds lkFk bl okD; dk leFkZu dhft,A                   

OR/vFkok 
How were novels in colonial India useful for both the Britishers as well as the Indian 
nationalist? 
vkSifuosf”kd Hkkjr esa miU;kl&vaxzstksa vkSj Hkkjrh; jk’Vªokfn;ksa&nksuksa ds fy, fdl izdkj mi;ksxh Fks \ 

Section C@[k.M+ x 
Q.19. Why is it necessary to expand the formal sources of credit in the rural area? 5 
xzkeh.k {ks= esa _.k ds vkSipkfjd lzksrksa ds izlkj dh vko”;drk D;ksa gS \                                               

OR/vFkok 

How are Self Help Groups (SHGs) helpful in providing financial resources to the poor. 
fu/kZuksa dks foÙkh; lalk/ku miyC/k djkus esa Lo;a lgk;rk lewg ¼,l-,p-th-½ dSls lgk;d gSa \ 

Q.20. How can the globalization be made fairer? Explain.                                                           5 
oS”ohdj.k dks vf/kd U;k;laxr dSls cuk;k tk ldrk gSA o.kZu dhft, \                                                                                                                                  
Q.21. Do you agree with the view that the consumer protection Act 1986 provides sufficient 
protection to consumers from exploitation in the market place? Support your answer with 
suitable arguments.                                                                                                                        5 
D;k vki bl fopkj ls lger gSa fd miHkksDrk laj{k.k vf/kfu;e] 1986 miHkksDrkvksa dks cktkj esa “kks’k.k ls i;kZIr 
laj{k.k iznku djrk gSA vius mÙkj ds leFkZu esa mi;qDr rdZ nhft,A                                                                                                      
Q. 22 Explain the role of Ports and Airways in the Indian economy.                                           5 
Hkkjrh; vFkZO;oLFkk esa leqnzh iÙkuksa vkSj ok;q ifjogu dh Hkwfedk dk o.kZu dhft, \                
Q.23 Briefly explain the participation of different social groups in the Non-cooperation 
movement.                                                                                                                                     5 
vlg;ksx vkanksyu esa fofHkUu lkekftd lewgksa dh Hkkxhnkjh dk la{ksi esa o.kZu dhft, \                                     

OR/vFkok 

Not all social groups were moved by the abstracts concept of ‘Swaraj’. Support the statement in 
the light of Civil Disobedience Movement of 1930s. 
lHkh lkekftd lewg ^Lojkt^ ds vewrZ fopkj ls izHkkfor ugha FksA 1930 ds lfou; voKk vkanksyu ds vkyksd esa bl 
dFku dk leFkZu dhft,A  

Q.24. Why do you think that the Constitution of India envisages a full fledged federal structure 
in the country? Support your answer in the light of constitutional provisions.                              5 
vkids fopkj esa Hkkjr dk lafo/kku ns”k esa ,d iw.kZ la?kh; <+k¡ps dh ifjdYiuk dSls djrk gS \ laoS/kkfud izko/kkuksa ds 
vk/kkj ij vius mÙkj dk leFkZu dhft,A                                                                                              
Q.25.Why is Power Sharing desirable? Explain any three forms of power sharing in modern 
democracies with examples.             5 
LkÙkk dh lk>snkjh D;ksa vko”;d gS \ vk/kqfud yksdra=ksa esa lÙkk dh lk>snkjh ds rhu :iksa dk mnkgj.kksa lfgr o.kZu 
dhft,A    

Section D@[k.M ?k 
26.A  Three places A, B and C are marked on the outline political map of India, identify these 
places with the help of following information and write their correct names on the lines marked 
near them: (Attempt any Two)                       1×6=6 

a. The place where Mahatma Gandhi started Satyagrah for Peasants. 
b. The place where Mahatma Gandhi started Civil Disobedience Movement. 
c. The place where congress session held in 1927. 
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 fn, x, Hkkjr ds jktuhfrd js[kk ekufp= esa rhu LFkku A,B vkSj C fn[kk, x, gSaA uhps nh xbZ lwpuk ds vk/kkj ij 
bu LFkkuksa dh igpku dhft, vkSj buds lgh uke buds ikl [khaph xbZ js[kk ij fyf[k,A¼dksbZ nks dhft,½ 

                a) og LFkku tgk¡ egkRek xk¡/kh us fdlkuksa ds fy, lR;kxzg izkjaHk fd;kA 

           b) og LFkku tgk¡ ls egkRek xk¡/kh us lfou; voKk vkanksyu izkjaHk fd;kA 

           c) og LFkku tgk¡ 1927 esa dkaxszl dk vf/kos”ku gqvkA 

 
26.B    Locate and label ANY THREE of the following with appropriate symbols on the same 
given political map of India. 

i. Rawat Bhata Nuclear Power Plant. 
ii. Mysuru (Mysore) Software Technology Parks. 
iii. Raurkela Iron and Steel Plants 
iv. Jawahar Lal Nehru Port 
v. Meenam Bakkam International Airport 
 

blh fn, x, Hkkjr ds jktuhfrd ekufp= esa uhps fn, x, LFkkuksa esa ls fdUgha rhu dks mi;qDr fpUgksa dh enn 
ls fn[kkb, vkSj uke fyf[k,A 
¼1½ jkor HkkVk ijek.kq mTkkZ dsUnz 
¼2½  eSlw:¼eSlwj½ lkW¶Voss;j VSDuksykWth ikdZ 
¼3½  jkmjdsyk ykSg vkSj bLikr dsUnz 
¼4½  tokgj yky usg: iÙku 

¼5½  ehukEcde vaRkZjk’Vªh; gokbZ vMMk 

      These questions are only for visually impaired students in lieu of question no.26 (A) and 
(B). Attempt any five only. 

(i) In which state of India Rawat Bhata Nuclear Plant is situated ? 
(ii) In which state of India Mysuru  (Mysore) software park is situated ? 
(iii) In which state of India Rourkela Iron and Steel Plant  is situated ? 
(iv) In which state of India Jawahar Lal Nehru Port is situated ? 
(v) In which state  of India Meenambkam International Airport is situated ? 
(vi) From which Place of Bihar Mahatma Gandhi started Satyagrah ? 
(vii) In 1927 at which place of India the Congress Session was held ? 
(viii) From which place of India Mahatma Gandhi started Civil Disobidence Movement ? 
fuEufyf[kr iz”u dsoy n`f’Vckf/kr fo|kfFkZa;ksa ds fy, iz”u la[;k 26 ¼ A ½ vkSj 26¼ B ½ ds LFkku ij gSaA dsoy 
fdUgha ik¡p ds mÙkj fyf[k,A 
¼1½ Hkkjr ds fdl jkT; esa jkorHkkVk ijek.kq mTkkZ dsUnz fLFkr gS \ 
¼2½ Hkkjr ds fdl jkT; esa eSlw: lkW¶Vos;j VSDukWyksth ikdZ fLFkr gS \ 
¼3½ Hkkjr ds fdl jkT; esa jkmjdsyk ykSg&bLikr dsUnz fLFkr gS \ 
¼4½ Hkkjr ds fdl jkT; esa tokgj yky usg: iÙku fLFkr gS \ 
¼5½ Hkkjr ds fdl jkT; esa ehukEcde vaRkZjk’Vªh; gokbZ vMMk fLFkr gS \ 
¼6½ fcgkj ds fdl LFkku ls egkRek xk¡/kh us lR;kxzg vkjaHk fd;k \ 
 ¼7½ lu 1927 esa Hkkjr ds fdl LFkku ij dk¡xzsl dk vf/kos”ku gqvk \  
¼8½ Hkkjr ds fdl LFkku ls egkRek xk¡/kh us lfou; voKk vkanksyu vkjaHk fd;k \ 
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